B=JET R EH R AR R FEXINP

2| L | XIPER A4 RS Bt EZHE SHE e A A E e R
1 | %tk | 1.86 W R 36 67 8 32 27

2 | BifEa | 1.69 W R 36 61 22 11 28

3 75 fik 1.33 WA R 72 96 8 32 27 11 -4 22

4 | e | 1.14 R 84 96 25 16 | -13 | 40 14 3 11

5 KRR 0.87 JRAER 108 94 -8 25 16 | -13 | 40 14 3 11 6

6 | vty | 0.67 IS 72 48 15 -6 | -15 | 19 1 34

6 | %6)%3: | 0.67 IS 72 48 20 30 | -17 | 22 | -14 7

8 | i | 0.56 WA R 72 40 22 11 8 28 | -19 | -10
9 | ®#E%E | 0.43 W R 108 46 -6 -1 -7 24 17 11 | -10 -4 22

10 | &g | 0.4 JRAER 72 29 -8 15 21 -6 1 6

11 | 3kiF*% | 0.36 IS 108 39 15 6 | -15 | 19 | -17 | 22 | -14 1 34
12 | BEpEyt | 0.28 kN ) 96 27 14 18 3 -1 -19 | 14 4 -6

12 Tt e 0.28 s 96 27 14 18 3 -1 -19 14 4 -6

14 | &5 0.25 oo B 72 18 5 14 | -19 -11 | 31 -2

14 | ffibzr | 0.25 I HKEE 48 12 20 | -22 | -16 | 30

16 | {4k | 0.23 oo 96 22 -2 20 | 14 | -30 | 25 -8 31 12

17 | {E4£87 | 0.21 M H K 72 15 -25 7 39 -10 | 14 -10
17 | Bharik | 0.21 M H K 72 15 -25 39 -10 | 14 -10
19 | pi/bte | 0.15 HEN K 48 7 -14 -10 17 14

20 | fazy | 0.14 JRAER 84 12 6 6 15 -9 -12 5

20 | fai | 0.14 WAL 72 10 22 2 -11 -14 10
20 | &gk | 0.14 WAL 72 10 22 2 -11 -14 10
23 | x| 0.13 J R 84 11 6 21 -6 -9 -12 5

24 AR 0.11 Rt 84 9 2 -21 10 -2 17 2

25 X 58 0.1 Bt 72 7 2 21 10 -2 17

25 | 4| 0.1 WY E 72 7 5 -2 4 6 5 -11




27 P 0.05 Rt 84 4 20 | -32 | 17 13 11 13 2
27 ¥ 0.05 Rt 84 4 -20 | -32 | 17 13 11 13 2
27 | ZAh% | 0.05 YN 2 60 3 5 -2 6 5 -11
30 X Z 0.03 WY 72 2 20 -4 10 9 -34
30 Eiik 0.03 Y2 1 72 2 20 -4 10 9 -34
32 | faSris 0 o 72 0 7 -3 10 -1 -11 -2
32 | H®ilVk 0 o 72 0 7 -3 10 -1 -11 -2
34 | Hyt/k | -0.04 W5 R R 108 -4 -6 -1 -7 24 17 8 -10 | -19 | -10
34 | ghzxxw | -0.04 RS 84 -3 -14 -6 -15 | -10 17 14 11
36 | mxfs | -0.08 A EAR i 96 -8 2 28 -2 -39 | -10 4 -1 10
36 | Bk | -0.08 A EAR i 96 -8 2 28 -2 -39 | -10 4 -1 10
38 stk -0.2 PR H 60 -12 -15 10 -7 -2 2
39 | yifkEke | -0.28 kN ) 60 -17 -14 -4 4 2 -5
40 | H:EDL | -0.29 FHEE ) 72 -21 0 -28 | -14 7 19 -5
40 i | -0.29 PR H 48 -14 -15 10 -7 -2

42 | Gzl | -0.31 Il AR 48 -15 15 -5 -3 -22
42 | sk | -0.31 I 48 -15 15 -5 -3 -22
44 | skEE | -0.32 oo B 72 -23 -2 -20 -30 | 25 -8 12

44 | ®ikfL | -0.32 AL 60 -19 -5 -4 19 -31 2

44 | Wkl | -0.32 AL 60 -19 -5 -4 19 -31 2

47 | #kIHE | -0.39 FHEE 1 72 -28 0 -28 -4 -22 7 19

48 T4 | -0.44 NP 36 -16 4 222 2

49 | M | -0.56 A EAR i 72 -40 -7 -18 4 -11 -1 -7

49 | 4 | -0.56 I AR i 72 -40 -7 -18 4 -11 -1 -7

49 % | -0.56 oo 48 -27 5 -19 -11 -2
52 | #[E% | -0.67 I RKEE 60 -40 27 | -14 | -17 7 11
52 | wiir | -0.67 WAk 84 -56 -15 6 -24 -4 9 -17 | -11
52 | ®/ gt | -0.67 AL 84 -56 -15 6 -24 -4 9 -17 | -11
55 | ¥k | -0.82 HEN K 96 -79 0 -6 22 | -15 | -25 | -13 -9 11




56 | Z=gff | -1.01 RYIZZ 1 84 -85 15 -5 | -17 -40 -28 | -14
57 | Fi&mm | -1.15 H 2 K 60 -69 0 -22 -25 | -13 -9
58 i | -1.18 IS 72 -85 22 | -16 27 | -14 | -17 11
59 | &4k | -1.24 RYIZ 72 -89 15 -5 | -17 -40 -28 | -14




